Area and Perimeter Revision

(a) (b) (c) (d)
Find the area. Find the perimeter of the The area of the triangle is 7 mm Find the perimeter.
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Find the area of the semi-circle Find the perimeter to 3 Find the perimeter to 1 decimal Find the area, giving your
to 1 decimal place. significant figures. place. answer to 1 decimal place.
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Work out The area of the sector is 241 cm?. Find the A circular lawn is surrounded
the area of perimeter of the sector in terms of 7. by a path of constant width
the shaded 2 m. The area of the path is
region. 307 m?. Find the area of the
| ; angle = 60° lawn in terms of 1.
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